Paper: | B.E_B.Tech

SET: |ltem21
Topic: Mathematics-Section A
Item No: 1

Question ID: 100001

Question Type: | MCQ

e®s f:(1,2,3,4) > {1,2,3,4,5, 6)

Question: ; .
72 f(1)+fQ2)=f(3), & IS fa=st g987 J :

A: 60

B: 90

C: 108

D: 126

Topic: Mathematics-Section A

Iltem No: 2

QL{estion 100002

ID:

Question

Type: MCQ

Question: A39 a, B, v, & AHIAES xt+x3+x2+x+1=0, ¥ B T, I «2021 4 p2021 4 2021 4 52021
g9Ed J

A: —4

B: -1

C: 1

D: 4

Topic: Mathematics-Section A

Iltem No: 3

ICI?)L'jeStion 100003

Question

Type: MCQ




- . - _ 1 "
_ Had neN, H6 &8 S = {zeC: |z =3 +2i| = E} 3 T, = {zeC: |z —2+3i| = —}-, 3
Question: 4 n
AT neN:S, nT, =¢} T 33 & faest J |
A: 0
B: 2
C N
D: 4
Topic: Mathematics-Section A
Item No: 4

Question ID: 100004

Question Type: | MCQ

0 € (0, 4m) frst Bt Sfua mitegs yaast
3 (sin 30) x—y+z=2
3 (cos 28) x+4y+3z=3
6x +7y+7z=9 T &t % &t o, & fa=st T

Question:

O Qo | N Oy

Topic: Mathematics-Section A

Item No: 5

Question ID: 100005

Question Type: | MCQ

Queston: | Fe@ I (12 4 a4+ p) =0, 3T 8(a+B) FET T ;
A 4

8 -8

c —4




Topic:

Mathematics-Section A

Item No: 6
Question
D 100006
Question
Type: MCQ
Question: Hod M3T [—3, 0] €8 @55 f(x)=(x2—2x+7) el —1227~180x+31) F faging WiEH I
| f@3, %
A: o= []
B: o= - 5
c: ae(=1,0)
D: de(—3; —=1]
Topic: Mathematics-Section A
Iltem No: 7
Question
D- 100007
Question
Type: MCQ
Question: | =33 Y =ax®+brx2+cx+5, »-09 g fig P(—2,0) 3 FuTH d9e" I n3 y-9 § g Q 3 dew
| 3, frE y §9ET I 3 €1 3T y(x) T AEES MUSRH HE T

A: E

4
B: g)_

4
C: E

4
D: 2

2

Topic: Mathematics-Section A
Iltem No: 8
Question ID:  |100008




Question
Type: MCQ
Question: A={x,y):x2 <y < min {x+2, 4 —3x}} 2o 3 & ¥3T T u396H J ¢
A: g
8
B: E
6
C: E)_
6
D: E
8
Topic: Mathematics-Section A
Item No: 9
Question
D: 100009
Question
Type: MCQ
fom TAsfea Aftmit x &2, Ha &8 [x] mfoasH uds Aftmit x 3 We 7 9989 § sar8e U1 He
&8 nizg® [—10, 10] €9 TA3fea HS =& &6 flx) = {x = [x], 79 [x] & 3 enrar
Question: 1+ [x] - x, 79 [x] A3 9
ﬂ_z 10
ufgeths 7, 3¢ — I f(x) cos mx dx & HS U :
10 .-
A: 4
B: 2
C: 1
D: 0
Topic: Mathematics-Section A
Item No: 10
Question 100010

ID:




Question

Type: MCQ
2x —
=39 ¢ y=y(x) T falt Big (v, ) T <39 § Huaw I & wmE 2 _6e_2x+9 I T ¢
Question: 2+ 9%
st [0, L+ ™| mi (o Lo2e )| 55 &8 o
f‘agw[[}, 2+2ﬁjmg[u, e Jﬁ%w%sﬁe H9TET I
A: 3+ \/E
3-42
N 3 (3+42
V2 (3-42
N 1 (J2+1
V2 (V2 -1
D: 'JE i
V2 -1
Topic: Mathematics-Section A
Item No: 11
Question ID: 100011

Question Type: | MCQ

Question: fSasHa miaas (x—y2)dx +y(5x + yA)dy=0 = fenmya 78 T :
(2 +2)*=Cl(2+22))

B: (y*+20)*=C|(y*+ x)?|

C: [(y2+x)3| =C (2y2 +x)*

(y2+20)%=C @2 +2)*

Topic: Mathematics-Section A

Item No: 12

Question 100012

ID:




Question

Type: MCQ

feq Jur faret ToE £ 3 e 3, fig A(4, 3) R8° St n8 Jur x—y—2=0 3 B fog 3 Jeet
Question: J29 :

J| Tg JuT §3 AB < Sgret S J, ST B9y 3 = J<ar :
A: 2x+y=9
B: 3x—-2y=7
C: x+2y=6
D: 2x—3y=3
Topic: Mathematics-Section A
Item No: 13
Question
D: 100013
Question
Type: MCQ

_ H5 %8 999 € AE9 (o, B), B > 07 fa 959 22+ (y—1)2=1 3 T AUTH JI 3 +-TJ & &

Question: . . . - - = - =

FUOA &9 J, T g AMT L J1 e L »i3 0 y=4 o fuT U39 =7 839e5 J ¢
A 3242

3
5. 4042
3
C: %
3
D: g
3

Topic: Mathematics-Section A
Iltem No: 14
Question
D: 100014
Question MCQ

Type:




Vs B8 s, i B Bt o 220 S X2 Z0T by fdot et 2 = L= 2 o

-1 —5 2 3 5
Question: @ y . _
-t § FNETHIBIBTY, Pl mag fig (2, —5,11) I P& gt d 3= 3 d? 599
i
A E
2
B: 96
C: g
3
D: 54
Topic: Mathematics-Section A
ltem No: 15
%{eS“O” 100015
Questi
T;Jpees: on MCQ
%MQABcf‘é‘aﬁgﬁﬁﬁ?f‘aﬁ:=:,c1=§§ =23 n3
b-c=12 3| a5t 3 feorg &9
Question: | (S1) : ‘(a gbleldn® | < | =6(242 - 1)
1| [2
(S2) ZACB = cos [Jg)
3¢
A (S1) »3 (S2) €< Adt T |
B: fige (S1) ARt T |
c: fige (S2) At T |
D: (S1) »i3 (82) T2 I%3 IS |

Topic:

Mathematics-Section A




Item No: 16
Question
ID: 100016
Question
Type: MCQ
Question: T-UTh 23 ¥ HOH'S »iS YATE ©F 13 M3 I8 gH'9 24 »i3 128 I&5| 3¢ B A € Aes3er of
Asest J
A: ﬁ
232
B: ﬁ
22’9
C: E
228
D: ﬁ
22?
Topic: Mathematics-Section A
Item No: 17
Question
ID: 100017
Question
Type: MCQ
Question: 2o T S UR g 2T e 3 g o nE By s famr | ST 2+ ax+B >0 AT
" | xeR &, S ARSI
A: E
36
B: E
9
C: l
Z
D: E
36




Topic:

Mathematics-Section A

Item No:

18

Question ID:

100018

Question Type: | MCQ

Question: |cos x| =sin x e —47 < x < 47 T I &t fa=zt U :

A: 4

B: A

C: 8

D: 12

Topic: Mathematics-Section A

Iltem No: 19

Question

D: 100019

Question

Type: MCQ
fegzeg PQ & Hes Iuzr g e moe Q Hes 39 | fig Re=g 3 & fifmd fRe Sser 3

Question: | Fefy QR = 15m|ﬂaaﬂ@33f‘a€A?RET@%aE60°%an@ﬁwPR A 150 @
T gE'8er U 3€ =g @ €9t U :

A 5(23 +3) m

B 5(v3 +3) m

C: 10(v3 +1) m

D: 1023 +1) m

Topic: Mathematics-Section A

Iltem No: 20

Question ID: 100020

Question Type: | MCQ

Question: J5 it fog faos aEs usI8a3t(@8em) T 2
A: (~p)vq) =rp
B: p=((~p) vq)




c: (~p) va) =q
D: q=((~p) V9
Topic: Mathematics-Section B
Item No: 21
Question
D 100021
_I(?ues.tion Numeric Answer
ype:
2 -1 -1
) N J3i-1 }
He ®€@ A=|1 0 -1| w3 B=A-1 Hdd 0=—>—, 3T Ay
Question: 1 =1 0
{ne{1,2.,100}: A® + (@B)" = A + B} &5 337 & forest w9 I
Topic: Mathematics-Section B
Item No: 22
Qgestion 100022
ID:
_I(?ues.tion Numeric Answer
ype:
, A ‘MANKIND' ¥ A niddr & Ad Ag= o @9 &y & »igeeT #@ae aH © a1 wigAg fefanT
Question: . = . P =
famr I | 3¢ mET ‘MANKIND' & gH wid __ 3 |
Topic: Mathematics-Section B
Item No: 23
Qgestion 100023
ID:
Question .
Type: Numeric Answer
i 15
L 1—x)10 5 . B %
Question: t2x5+(+ ,x 20 ¥ uAg 29 t 3 nEe uT & nifte=sH otHs K T, 3T 8 K 5989
J |
Topic: Mathematics-Section B

Item No:

24




Question

D- 100024
Question .
Type: Numeric Answer

Ha 8 a w3 b € 9 fhgo emsfea Aftmiet g5 | §T p M3 r Aftes 22 —8ax+2a=0 "3 q

. % = 1. 1 X 1 .& e g
Question: | »3 s AftEEs 12+ 12bx+6b=0 T HE I6 Fefa —, —, —, — »ialfesx &3t &9 08, 3¢
= P q r s

a~1-pb~! gog9 JI
Topic: Mathematics-Section B
Item No: 25
Qgestion 100025
ID:
Que§tion Numeric Answer
Type:

He &8 a;=b;=1,a ,=a,_,+2»3 b =a +b_ _, Al yaiafsx Aftmie’ n = 2 &=t 3%
Question: 15

ay b, 9w 3

n=1
Topic: Mathematics-Section B
Item No: 26
Qgestion 100026
ID:
Question .
Type: Numeric Answer

‘4;(2 —8x+5|, T 82 —6x +1=0
_ flx) = T8 [a] »ifiesH yas Afunt o 37 ue 7 59789 §

Question: 4% —8x +5), 7@ & —6x +1<0,

T9Ager I 13T R 5 fout &t o=t i f feeoriess & 37 s9=9 JI
Topic: Mathematics-Section B
Item No: 27
Qlfestion 100027
ID:
Question

Type:

Numeric Answer




. (m+ 1k

r{li)‘n e [Nk + 1) + (nk +2) + ... + (nk + n)]
©° 1N
Question:
B i & o i nk K] o )
S i s '[1 +2°+3° +..+n J 3¥ k &€ yIs Hfue & H® mgrEg
<
Topic: Mathematics-Section B
Iltem No: 28
QL{estion 100028
ID:
?ues.tion Numeric Answer
ype:
HE ®8 ffa 93 x2+ 12 —2x+2fy+1=0 T € fourAt & AHIETs 2px—y=1 "3 2x +py=4p
Question: | T Iz grehugEs 322 —y2=3 % &9 ¥ Io9 <9 fsasel AUTH 3ur &t e g9eg
Jl
Topic: Mathematics-Section B
Item No: 29
Question ID: | 100029
1Q_ue§tion Numeric Answer
ype:
dodt © fenmAt v 83, f1o3 Fuse a9 6
Question: . 8 6 .,
(i) U= 75x% =64 (5y—3) & foe [g* g) 3 (i) y-ud &, =9=4 Il
Topic: Mathematics-Section B
Iltem No: 30
Qgestion 100030
ID:
Question .
Type: Numeric Answer
T —1 o =3 =3 p—=l .. o
Juret X 2.7 =Z w3 =7 = Soorg 6831 odt @@t 9u 3
0 1 1 2 2 1 =
Question:

P:ax—y—z=0, (a>0) 3% cos‘l[\jzz?] o1 5F gEgEt ¥ | fo9 e (1,1, -5) @735 P 9

yf3fia (o, B, y) I, ST @+P—y&TTET T




Topic: Physics-Section A

Item No: 31

Question

D- 100031

Question

Type: MCQ

Question: Hod Al [P], ©39EH [A] »3 AHT [T] & HS THMM & 3T & o 3t feraHs geia &t ot A39
G

A: [P A~1T9

B: [PAT Y

c: [PA-1T]

D: [PA-1T ]

Topic: Physics-Section A

Item No: 32

Question ID: 100032

Question Type: | MCQ

Question: 6 fesSr Sf3a gt S8 faaset A fed Sudhndt I3
A. (%) ",
' femarus rfer \D /) »i= Asfo 999 wsEsT|
B: ferguE ade »iE f5asst B39
C: Sd<C WEIT W3 AfST I79d WEIT|
D: fareset ycHS s 8|
Topic: Physics-Section A
Item No: 33
Question
D 100033
Question
Type: MCQ




fozg oo feue nisAT 81 fonasSt A3 B33 8 a9ad U8 3 9% J | Hod BH 3 3w it argt
eI 60 HieT T 37 UE Baret & HSTT Basal m I |
( cos 135°= —0.7 f&zr 9)

Question: B Y\
o A
A: 4:2 m
B: 47 m
C: 19 m
D: 40 m
Topic: Physics-Section A
Iltem No: 34
Question | 140034
ID:
Question
Type: MCQ
Question: 0.5 kg U €t fFa @Az fidh Sy do I 0= (3x?+4) m/s ¥ 30 &% I&et J| x=03 x=2m 3 fen3
| femEus B, 9% oordr ST famr 3B aH e T
A: 64 ]
B: 60 |
c: 120 |
D: 128 |
Topic: Physics-Section A
Iltem No: 35
Question | 490035
Question
Type: MCQ
Question: fSgTH nieAET K9 59789 YA M w3 9y feniA R ¥ 83 3 B niE o d%e) 35 © fud h &t

8Uet T wdl Af3T I 93¢ T6 | AHIS 3 UJOT B IBE M3 I Sl Jignit &7 ot wigus J<ar |




A: E
3
B: E
5
C: E
5
D: E
15
Topic: Physics-Section A
Item No: 36
Question
D: 100036
Question
Type: MCQ
100 g ¥r € f35 feq -aHs & A, B »3 C fex fHdt 9ur 8 AB=BC=13 m &® ¥ d¥ I& §98d
Question: | Ur ¥ ¥ 98 o= P 3 BdeT JO37gAE 8% F J | & P& B 3° 13 Hied & gdt 3 3w AC 3 83 g3+t
3 Iftmr fam T 1| F € W39 I=att |
A: 21 G
B: 100 G
C: 59 G
D: P o o
Topic: Physics-Section A
Item No: 37
Question
D: 100037
Question
Type: MCQ
f&x forfes H=sar & aR € »ifess V § 27°C SUHS w3 2x 107 N/m? 2amf 3 AHsndt esifent
Questi Aer I A 39 ferer nifess gae 7 AT 91 fer Buds Haw ferg Afagsndt ewrfenr Afer U 7E 39
uestion:

ferer nifess onrdT gareT J A= | JIH € »if3H Tgmf J=ar |
(y=15 &)




A: 3.536 x10° Pa
B: 3.536 x 10° Pa
C: 1,25 % 10° Pa
D: 1.25x 10° Pa
Topic: Physics-Section A
Item No: 38
Question ID: 100038
Question Type: | MCQ
(A) fEx I\ wig & viAs af3a 8o weet T 7e” ferer 3uHs weer J|
(B) f&x 3w wig & win3 af3w ot =gl € Tus &% Ut J|
e (C) f&x am niz & viAs aifsa €9 nifess © <us & weet T |
uestion: - =
(D) dJH & T8 IUHTS © TUS &S ST J |
(E) dmW & mifess IUNs © T0E &% WeeT J |
J5 fe3 feamut &8 Adt €39 92 -
A &=® (A) 3 (D)
B: &= (A), (B) »2 (D)
c. 5=®(B) »3 (D)
D: NTH (A), (B) e (E)
Topic: Physics-Section A
Item No: 39

I%‘feS“O” 100039

Question
Type: MCQ




k [2m | | K 2k|
’////A
(B)

(A)

Question: B iR G i & & 7 ;
HESHON: | pes (A), 8 T\ m’' &9 G722 m' foufomr J fagsr fa k Seret AfaT nig Enit aednr a7 afsn

ofenr I |
fg39 (B), feg, Ua ‘m’, ‘K »3 2k’ dcrel Afag wid &t ¥ deehmr & afsnr dfenr 3
Had U ‘m’ (A) w3 Ua ‘m’ (B) 8 ‘v’ €4t 3 femarfuz &3 a® 95 37 (A) w3 (B) € AHAT
nifest &% T, m3 T, € AU USBE JI€ T3 !
Ty 3

A: —_— = —
T, 2

B: _E._ —_ _3._
Ty 2

c. L
Ty 3

D: _Ti —i _.'\/_E
Ts |

Topic: Physics-Section A

Item No: 40

Question

ID: 100040

Question

Type: MCQ

Question: | 2 WF T3 & g Tga 0 to 5 C 3 »e® IaMmsz o= famr I | Jo fodor &9 faos are

(nifeg3t) fErdhnr gregt © oS UCHS niST® ©F S9&W U9d 83 9790 © &'® Adl 29Ager J|




Z
= 5%
X
A: o
? y X3 SRR '
0 5— Q(C)
&
= 5
X
B: bl
? 2.51
0
>
7 By
X
C: e
?’ 2.91
0 5— Q(O)
z
= 5%
X
D: e
?‘ 25¢1-----=
0 5— Q(C)
Topic: Physics-Section A
Item No: 41
Question 100041

ID:




Question
Type: MCQ
59TE9 a1f3d B9 e & 993 T § o=t & fomr 3 #i93 fomr fo & fea mis gadt v39 &9
Question: | grgE o3t Afer I Hog 8Tt T Jagrarg Uar © »igy feniir &7 nisums 6:5 I »i3 Boa ¥ gHeg U
T U= 9:4 J 3T BUET T IrodT € nigyUs J=ar|
A: S.5D
B: 5:4
C: D
D: 8T
Topic: Physics-Section A
Item No: 42
Question ID: | 100042
Question
Type: MCQ
Question: ¥ Tisdeg &% &3t9u LCR Agae o nigss=t nifest sus &=t
A: &9ed o mirfest =uBst usart |
B: Ufos -ystaud & ffa I9 ysidua s3tde 3da ffo afgnr arar grdter T
C: ufo® O9x 5% BItausT K9 81 39 uiga § AT u=ar |
D: A&9ed ot mife3t werBst usat |
Topic: Physics-Section A
Iltem No: 43
Qlfestion 100043
ID:
Question
Type: MCQ




| 37 & féaq 2t egararg 39 gswt § f8x L 37 & <5t Tdararg 39 gsd feu dfimr famr 9
L(L>>])1 = g38r & 3% 3 »iz 8o ¥ awg O fig 3 He uiT 75 fie’ fosa e feufenr 9
| feemer & ygRufoa gz T :

L
. I
Question:
i l (‘) [ L
DRSNS
S SLCRRRRE | FRRCRRRRREES =
2
A 242 oL
rl
2
242 7L
2
C: 2\/5 P-{]I
L
2
D: l‘lﬂ[‘
22 7l
Topic: Physics-Section A
Iltem No: 44
Question
D: 100044
Question
Type: MCQ
Question ¥ AHIZT ude TId 9 ode Trar ©F HST 6.9 pA I for uga & ogasT J=dt, Tag ferd
uestion: - & i ; -
600 rad/s = &t »ifgst & f&x 230 V & ac »uast & Afanr AT T ¢
A: 5 pF
B: 50 pF
c. 100 pF




D: 200 pF

Topic: Physics-Section A

Item No: 45

Question

D: 100045

Question

Type: MCQ

Question: | Tx fadtnr &9 faoz o8& AT T :

A: yrafHa Azdat Wtw &9, fodhua g 3 @ »i3 §& 9t Ja1 2uer J|

B: yrafHa A3dar Ww 39, fadhux fidg 3 Sarst »iz 8% &H Ja1 oueT J|

c. yafia Aedar Ww 8, yam 390 st &t g8 3 o9 oS 3 ufos € =79 yIe wisfox
ufged3s Afoz a9et T |

D: ygfHe A3Jd W Aetsdt A3ddat Wt 3° wie gHeitsr I

Topic: Physics-Section A

Iltem No: 46

Question

D: 100046

Question

Type: MCQ
FITET HETET € € p, WS pp MUSTSE widt % € FY-29 uT9d A w3 B & gveE & yaH

Question: | FHTI AHT t, M t, BT J| 79 t,—t;=5x 107105 »Z p, I py T U 1:2 I 37 yerag &
Heet Hieg g U= &9 | yar & oSt A »i3 B Ue9E 8 e@ v, "3 oy fodhor 51

A: 5x1010 v, m

B: 510710 m

C: 1.5x107 19 m

D: 5x1010 v M

Topic: Physics-Section A

Iltem No: 47

Question 100047

ID:




Question

Type: MCQ
fex U3 3 800 nm YIH 3JaT BETEr T YAH UTT J | YIH fedaes B wiftesH afza 89 Sae
Question: | J AET J AE 500 nm YIH 3991 BFE T YIH ]I AT J | T3 T J9H SBE J |
( hc=1230 eV-nm &<).
A 1.537 eV
B: 2.46 eV
C: 0.615 eV
D: 1.23 eV
Topic: Physics-Section A
Iltem No: 48
Question 409048
Question
Type: MCQ
9 Bt ol n & o S0 uHe 9T fEdaegrs T Hedl fosT I (8 niugt © ySia 83 nitd H3®= due
Question: | gz Um YA € TH3 A HITES 391 »Tet € 8 IF Bt & Hedl et I6 o3 Agur &9 fags /e
o
A nh
27r
B: ﬁ
2r
C: E
2
D: m
nh
Topic: Physics-Section A
Iltem No: 49
Question 409049
Question MCQ

Type:




Question: | (&% fetsaeds 7 fs@afen & wnrd qfg ue 9 S&t Aear 7 uM for I 3 ferer gaalt HRe fem 3
gl
.%
A l_; _eL
L 2m
%
B - el
[ D —
L 2m
.._}
C —~ _ el
E m
._}
D: -  2eL
o B —
m
Topic: Physics-Section A
Item No: 50
Question
D: 100050
Question
Type: MCQ
Adoe e S i A=1A B=1 A AATBIUZHS 5V I »3 &fvd 5 A=0,B=0 I 7¢
AATBIYSHES 0V JI
Dy
A
. Y
Question: D,
B- R
I 5V
= Vil
€3 3IF AJdoe € 298 I9% J=dT




A B Y
0 0 0
A: 1 0 0
0 1 0
1 1 1
A B Y
0 0 0
B: 1 0 1
0 1 1
1 1 1
A B Y
0 0 0
C: 1 0 0
0 1 0
1 1 0
A B Y
0 0 1
D: 1 0 1
0 1 1
1 1 0
Topic: | Physics-Section B
ltem No: | 51
Question 1 409051
%‘pe;tb” Numeric Answer
f& a9 150 km/h & a5t € &% oot J »3 899 Harge 3 gmie ffo gae 3 ufos 27 m Ieet
Question: | T | 79 fedt arg Tamret gt 3° fox 3ot {9 & oot 0 3 feg m &t 3E 3 ufosr

Inf 99T |




Topic:

Physics-Section B

ltem No: 52
Qlfestion 100052
ID:
Ques.tion Numeric Answer
Type:
g9 % fex fig P 3 A3fes vierar fe 8o U o6 iR fosa fRe feurfonr I 1 55 F, 3 F, & nigus
1:x 9 &8 x= J |
e 1N
Question: 05450
Topic: Physics-Section B
Iltem No: 53
Qgestion 100053
ID:
Question .
Type: Numeric Answer
L Saet »i3 1 nigu fonrm & 81 39 8 €x fio 3° fa=9 daal feg dfonm 31 7 fa 39 o gAw T
Question: 8% 5% F enrar fifanr famr 3 37 feret Savet <9 5 cm @0 Jer 31 €8 veragw & ffx d9 39 fAret
waret L3 gy foomA 4r T 3 fea 5% AF oorgr fifonr fomr 31| fer 39 & Saret fe
cm 0T I
Topic: Physics-Section B
Iltem No: 54
Qgestion 100054
ID:
Question .
Type: Numeric Answer
3% »3 BJ Ehr T NS wida sgEmt & F Ba 2oz o Ut o fearEt T Ao geer J faRet
FIEt 20 cm T H IUHTS ¥ SESE 5% &9 geset i3 20 cm Ifder I | €aT wiET O saet &Y gesmy
Question: | f&r 337 TRar 37 fa Bast &t Sorst o vizgws Afag 90 | o9 fUss & St 40 cm T 37 39 &t

gt cm J<dft |

as. =12%x1075K-1nm3 as..=18x10"3 K™D,
S fil=s




Topic: Physics-Section B
Item No: 55
Qtfestion 100055
ID:
1Q_ue§tion Numeric Answer
ype:
s Yua fFa Arfeas 3 93e7 I »is 85 uast 2% 18 km/h &t a3t &% g&er I | 89 nuE liE 93
Question: T 3 AfEs fEa A3 3 €3 view Hdt gee U »iR % &% & yorst 3 ufaesfss for udtmmed 3
| BEEr U | 799 B3 T 5o TEt/mie T iRt nifest 640 Hz I UEt ©F 9T fR9 St 320m/s I 3
Yua &% FEinft o7 gdit © fegarag dte (Beat) nifest Hz J=att |
Topic: Physics-Section B
Item No: 56
QL_Jestion 100056
ID:
?ues.tion Numeric Answer
ype:
6 m Iy forrA ¥ fea dwarg A3 & »ifess g9n wesT 2 uC/em® T | IS & Af3g 3 599
Question: | " g 5% & wEter & Aftmr yfs AfsgEsses _ x10ONC-1 3 |
[Given : Permittivity of vacuum ¢;=8.85x10"12C2 N~ 1-m~2)
Topic: Physics-Section B
Item No: 57
Question ID: 100057

Question Type: | Numeric Answer

Question:

fe3 ag fose e, v, & v V J<dr |
2V 1xQ
I ANAAN
4V 1k
I AN
6V 1kQ
I AN .
VU




Topic:

Physics-Section B

Iltem No: 58
Qlfestion 100058
ID:
1Q_ue§tion Numeric Answer
ype:
Question: | Baet w3 d fenmr Enff 8 37g T 39T A3 I RYSiou & 1 foas AGeR 9%d sarfent J | Aad
| 21 Baret &t i ot 3t S 379 g9y ySteu Juet I 3 ferer forrm d I=ar |
Topic: Physics-Section B
Item No: 59
Qlfestion 100059
ID:
Ques.tion Numeric Answer
Type:
, et (3da suEt =4000 A) LED §3Us 9= & nigu-vwa uetdy @ §9d §F nizas
Question: - - oL - =
eV T (338 ydE nid 3 AfHZ a9 )
Topic: Physics-Section B
Item No: 60
Ql.festion 100060
ID:
?ues.tion Numeric Answer
ype:
Question: fea TV =g & &3t 892t h T o7 1 6.03 By nraet 3 =9 J9e J | #ad MRS niEel wasT
| 100 Y3t =991 km T 3 TSt ©F n@y fen 6400 km T 3T h & §® Hieg <o m J<ar |
Topic: Chemistry-Section A
Iltem No: 61
Question
D 100061
Question
Type: MCQ
SO,Cl, =g et &% yStiafont a9 3adt fimgs féer 9
question: | SO2CL+2H,0 — H,S0, +2HC
7 16 H® NaOH ¥ 9die I5 fer 3amt fimgs 8 ydt 397 fogin a9z &2t 3F fag 1 SO,Cl, T 293 I
Jb6 .
A: 16
B: 8




D:
Topic: Chemistry-Section A
Item No: 62
Question ID: 100062
Question Type: | MCQ
Question: Jor &3 gnifer viar ® Ay <8 fao3 Ase adt 32
A: 1
- n=3,1=2 m1=[],s=+5
B: 1
: n=3 1=2, m=-2,s=" 5
C: 1
' n=3,1=3, m=-3, s=— )
D: 1
: n=3,1=0, m1=0,s=—5
Topic: Chemistry-Section A
Item No: 63

%LfeSti°” 100063

Question
Type: MCQ

05 mL L~ ! Ausst % grafHd nifAs U & AHTE @90 & mieaHs 0.0405°C ufenr famr I | g3t
Question: | »fAE & wEsT 1.05 g mL~1 3

edfHa wifAs W & @i Ie e I (fesT k;=1.86 k kg mol~ 1)
A: 0.8
B: 1.1
C: 1.9
D: 2.4
Topic: Chemistry-Section A

Item No: 64




I%Lfestion 100064
1(?;pees:tion MCQ
20mL 0.1 M NH4OHE§ 40 mL 0.05 M HCl &® fHAfg=s &zt famim|  fHeEgs &t pH
Question: i
( fozr - K, (NH,OH) =1 X 1075, log 2 =0.30, log 3 = 0.48, log 5 = 0.69, log 7 = 0.84, log 11 =
1.04)
A: i
B: 4.2
C: 5.2
D: 6.2
Topic: Chemistry-Section A
Iltem No: 65
Question ID: | 100065
Question
Type: MCQ
pet-1 &% mot- 11 3 fHeg
Fei- I got- 11
(A) Nz(g) +3H,(g) — 2NH;(g) () Cu
Question: | (B)  CO(g) +3H,(g) —» CHy(g) +HyO(g) () Cu/ZnO-Cr,0,
(C) CO(g)+H,(g) - HCHO(g) () FeO,+XK,0+ALO,
(D) CO(g) +2H,(g) — CH;OH(g) (IV) Ni
Jo fos eyt 297 Adt €39 v
A (A) - (II), (B) - (IV), (©) - (I), (D) - (1)
B: (A) - (1), (B) - (D, (C) - (IV), (D) - (1)
c (A) - (IID), (B) - (IV), (C) - (D), (D) - (II)
D: (A) - (1), (B) - (1), (C) - (IV), (D) - (1I)
Topic: Chemistry-Section A

ltem No: 66




I%‘feS“O” 100066

Question
Type: MCQ

Question: | fer 33 faret Frogs! E@aead 39318 [Rn] 5f146d17s2 T €rer IUPAC aHAgs H3TE &H J1

A: Unnilbium

B: Unnilunium
C: Unnilquadium
D: Unniltrium
Topic: Chemistry-Section A
Item No: 67
Question ID: 100067
Question Type: | MCQ
TS © foRaes 29E Gfde fAR didt Sa1 & gu g gee Ae 75 |
(A) CaO
(B) FeO
Question: (C) A]203
(D) ZnO
(E) NiO
Jor o3 fEamut feg” Adt €39 92 -
A frge (©), (D)
B frgz (A), (B), (E)
C frgs (A), (B)
D frge (B)
Topic: Chemistry-Section A
Item No: 68

Question ID: | 100068

Question
Type: MCQ




Question: | 3rATEt Hftmiy fRg ufimm uanerde & H,0, &% ySifafont sax geer J |
A an +

C: Mﬂ3 +

Topic: Chemistry-Section A

Item No: 69

Question ID: 100069

Question Type: | MCQ

Question: WSS T3t WEIT H3TE At gH B
A: Li<K<Na<Rb<Cs

B: Li<Na<K<Rb<Cs

C: Cs<Rb<K<Nac<Li

D: Li<Na<K<Cs<Rb

Topic: Chemistry-Section A

Item No: 70

Question ID: 100070

Question Type: | MCQ

6 ot yStfafonr & g=<t €0 ‘B’ 30 896 © o® 8539 4
Question: 450 K
BF; + NaH ————— A + NaF
A + NMe; — B
A [EEE1
B: Jesal
C: fugriiz®

D: Z9arad AHIS




Topic: Chemistry-Section A

Item No: 71

Question ID: | 100071

Question

Type: MCQ

Question: HOHIS & T7 B 5% YSifafanr ffe gee 3T Ions Gl & A8< J :
A TENISEE

B: I

C: UIIBe

D: JHEtE

Topic: Chemistry-Section A

Item No: 72

Question ID: 100072

Question Type: | MCQ

Question: YyH AHaT feg &dt Hge der O
A: NO

D: HCHO

Topic: Chemistry-Section A

Item No: 73

Question
ID: 10

0073

Question
Type:

MCQ




fea Gfgrar ‘A7, ‘X w3 Y’ yStiafonT 9o fea 1y €A Uer a9 I ug Afg 8 ‘a’ mis ‘b’
MEI-NFHIT TS
e
—» a+0=C-CH;—-C-CHj
CH, CH, |
Question: I | CHj
H2C=C—CH2—C—CH3
| CH, CH,
s | Y p+0=C-CH,—C—CH
Compound ‘A’ FO=ERT | ¢
CH,
‘a’ T niaAtogs 3 U JeT UTT9E J f aight U g 761 ‘X mi3 ‘Y’ gHRTT I6:
A: Kl\fh104/H+ mz  dil KMnO,, 273 K
B: KMnO,(dilute), 273 e KMnO,/ 't
C: KIV[nOMHJr m3 O,;, H,O/Zn
D: O3, HyO/Zn 3 Khm04/H+
Topic: Chemistry-Section A
Item No: 74

Question ID: 100074

Question Type: | MCQ

Jot oSt ySifafont f<e Az3" Afeg 8U T
OH

Question: (1) H3C :: :: SOZC],E H .:

(ii) NaCN, DMF

>




CN
A /'t
CN
B: \/k
CN
C: f\
CN
D: /v
Topic: Chemistry-Section A
Iltem No: 75
Question
D: 100075
Question
Type: MCQ
Question: Jor et yStfafanrst &5 faoz Ba Adt 73 5t an8@er HaAedee w3 Surt &9 fodhi mast

Wt ?




3.

(| H, H
Pd.BaSO,
O
CN

B:

(i) DIBAL-H H

(i) H,O

O
CO,CyHj5

C: g :

(i) AlH(iso Bu)Z} H

(ii) H,O

O
D:
OH (i) Na,Cr,Oy ; H
(ii) H,SO4 H,O
Topic: Chemistry-Section A
Item No: |76
Questi
Do 100076
Questi
T;Jpees: ion MCQ
fea arggat e A, NH, &% yStafonT aox sme 1< aon a9z 3 afdx B fder I farg ame f<e
Question: | Gfd C &% 37 d19H Jdz 3 (CgHNO,) e 3 Gfvra C, 3ta ytfafonr swa gtEafsa KOH,
NBAES THTES M3 ASlage nisas ffo yrfeHdt nifts feer T afor AT |
CHO

A:




CHO
B:

COOH

COOH
C:

COOH

CHO
D:

OH
Topic: Chemistry-Section A
Item No: 77
Question ID: 100077
Question Type: | MCQ

Question: HEMIHS Sg%d g0 fere AWEs 59
H,N N NH
2 Y m/ 2
A N\\\rN + HCHO
NH,
H,N NH
2 W 2
N Ne N + HCHO




H,N NH,
+ HCHO

C:

NH,

NH,

/
D N + HCHO
NH,

Topic: Chemistry-Section A
Item No: 78

Question ID: 100078

Question Type: | MCQ

Question: Uete o fefatags Soe faost AogsT @R 397 Jf ofdet T -

A yrfeHgt

B Aa 3t

C ZIAIT

D SMTEI&It
Topic: Chemistry-Section A
Iltem No: 79

I%‘feSt'O” 100079

Question
Type: MCQ

Tt fHg3h FIREGHIS &% g3em 75 fere! gedst eoe § weel/Jaet 5 w3 Hel § et

Question: R .
5 & foor Aer T

A nidifsHe




B: nendifeAe

c: meHefaRe

D: yst foreHs

Topic: Chemistry-Section A

Item No: 80

Question ID: | 100080

Question

Type: MCQ
Jo € gEs a3 I 75|

Ouest qas 1:  famAds v KHSO, 3 39H 39 fogndiaas 3 »iaddis seet J

uestion: = _ ~

FEs I1: WiEdss of €% @8 YAg »iE famAds of I8 cAe 996 &eT <disni Aer J
Adt €39 9T

A: 6 o8 In= Jgs I A3t I5 |

B: 8 oHS I3 JEs 11 TS 05 |

C: 585 I At 9 U9 85 1L I&s I |

D: o5 1 9®3 J Ud o885 11 /At I

Topic: Chemistry-Section B

Item No: 81

Question ID: 100081

Question Type:

Numeric Answer

Question: NE’ N2+’ NE_’ sz_, O,, 02+, 02_’ 022_
faest mitrT Y3t gga3 sar8et 75 |
Topic: Chemistry-Section B
Item No: 82
QLfestion 100082
ID:
Question

Type:

Numeric Answer




JUs, JTeTEte m3 SEIaEEAs of 298 K gHE9 A%E of weasdt —2220.2 k] mol ~ 1, —393.5 k]

mol~! 3 -285.8 k] mol~! T51 YUs (CyH,) € Fxe & wimgsdt & WS K]
Question: 1
mol 1 3|
(839 33 yds via 37 o)
Topic: Chemistry-Section B
Iltem No: 83
Question
D: 100083
_?ues.tion Numeric Answer
ype:
for &t @@t dH T 27°C 8ug @amf 4 atm J| H §93& € wifess gaie &9 fezr A< 87 s9=g
Question: | IUHE BuT | &t THF A T Bt TEImT x10~1atm J1 (€37 338 yIs »id 3 fw)
(ffz7: Ty =g urat & 27°C is 0.4 atm )
Topic: Chemistry-Section B
Iltem No: 84
Question | 100084
Question .
Type: Numeric Answer
298 K 3UHS BUT Zn|Zn2 7 (aq)||Sn** | Sn & A% uchE® 0.801 V I yStafanr & 3aes Guas
yItfafoer ar 102 7 | &t famw grfea As yStfafonr feo fo=st fedacs g1 3
Question: | I& |
$r . 120 _ o o > 2303RT _
(fesr . EZn2+|Zn =-0763V, ESnx+|Sn +0.008 V »3 —= 0.06 V)
Topic: Chemistry-Section B
Item No: 85
Question
D: 100085
Question .
Type: Numeric Answer
It dfex A T feuns SF »idg g 240s I A€ AT 28mf g € 500 Torr g2 I 1UJ H AT Tgmf
Question: | 250 Torr I= 3 ni@g g 4.0 fife uret Aidt 7 yfafonr & a2t g
(837 338 uds nix 3 fax)
Topic: Chemistry-Section B

Item No:

86




Question 100086
Question ,
Type: Numeric Answer
[Co(NH,) P+
[CoCI(NH3)s]2*
Question: | [Co(CN) 6]3—
[Co(NH,)-(H,O)]3*
fHO3T IHUBIA ASS We 3491 et ©f fags Auer 9 8rer fige fAfus gt Hie B.M.
J1 (837 338 yIs nid 37 fom)
Topic: Chemistry-Section B
Item No: 87
Question
D: 100087
Question .
Type: Numeric Answer
Co3*, Ti2+, V2 ni3 Cr2t &5 faog wifsaona oo dfsm 3mg o aeigns adt 85 Faer 8rer
Question: | IAT nierer &g fAge fAfUs S9aT FRE H® B.M. T|
(837 338 yds nix 3 f&)
Topic: Chemistry-Section B
Item No: 88
Question
D: 100088
Question .
Type: Numeric Answer
TIgsl Wida S8 aeiens 3 migHTs3 mes fedt &% 3T famm 7 0.25 aTH Gfi <8 fsas!
Question: | »aMT 3H § fsauy agE &t 2.5 mL 2 M H,S0,793 AiStaet | s9gdt afom <9 setens
YAz I
Topic: Chemistry-Section B
Iltem No: 89
Question ID: | 100089
?ues.tion Numeric Answer
ype:
Question: 9 dogad C,HN 89 sp® Fads T8 Jaust ©f faest JI




Topic: Chemistry-Section B

Iltem No: a0

Question ID: 100090

Question Type: | Numeric Answer

Js &3 ySifafanr <91
H;C (”)
C-OEt -
O Et Y %
Question: 'EI‘H' @ﬁ?r
CH, — (I% —CH;4

O
(ffd Et —C,H; J)
Bun A &g afeaw aggst € fas3t afarel




